2 RARE=SIVTBRERR

Ei L] #5832 (Ba/kg)
NO | WG | WERR | WEH | oey il samw) | mme |y REA (e, 290, 2HRE il BEE | G | wmn | 014 | o197 | ostE
1 %f”ﬁb,j rER e — SEE REY =3 i3 BERERRE V- Ge H25.2.12 | H25.2.13 <41 <48 <89
2 %f‘ffp,j BRR | KFERE — FEE REY 1473 it EERBRERE I Ge H25.2.12 | H252.13 <40 <35 <15
s (REE_, | mem | muw — FHER | REND 2w s ERRRRMA L 5— Ge | Hp213 | Hs21a | <46 | <44 | <9
4 %f‘ffp,j BEER Bl — FEE REY Jayal)— — BEREEREtVS— Ge H25.2.13 | H25.2.13 <12 <67 <14
s (REE_, | mem | mmiw — FHER | REND 2w sk ERRRRMA L 5— Ge | Hp212 | Hs21s | <49 | <42 | <o
6 %f‘ffp,j BEER BEEAH — FEE REY BT/ 4 54 EERRERE I Ge H25.2.12 | H252.13 <57 <44 <10
7 %fﬁb,j rER SR — SEE REY avvF i3 BERERRRE V- Ge H25.2.12 | H25.2.13 <42 <53 <95
8 %f‘ffp,j BEER RART — FEE REY Xt ek EERRERE I Ge H25.2.12 | H252.13 <45 <38 <83
9 %fﬁb,j BER =HHT — SEE REY THUF — BERERRE VS Ge H25.2.12 | H25.2.13 <88 <78 <17
10 %f‘ffp,j BEER =&HT — FEE RED avyF MR ERREERE VI Ge H25.2.12 | H252.13 <44 <37 <81
11 %fﬁb,j BER we™ - FEBE R REY FavY 54 BERRREEEVS— Ge H25.2.13 | H25.2.14 <35 <40 <15
12 %f‘gﬁp,j BEER BEm — FEE REY 453 Jicks:4 BEREERES VS Ge H25.2.13 | H25.2.14 <11 <84 <19
13 %fﬁbd BER Bl - B BEN 4+A — BERRREEEVS— Ge H25.2.13 | H25.2.13 <11 <14 <18
14 %f‘gﬁp,j BEER Bl — FEE BED 47 — EERRERE I Ge H25.2.13 | H252.13 <719 <15 <15
15 %fﬁbd BER Bl - B BEY 4+A — BERRRBEEVS— Ge H25.2.13 | H25.2.13 <99 <17 <18
16 %f‘gﬁp,j BEER Bl — FEE BED 47 — EERRERE S Ge H25.2.13 | H252.13 <74 <69 <14
17 %fﬁbd rER ERilih — ERBER BEY 45 — BERERRRE V- Ge H25.2.13 | H25.2.13 <17 <80 <16
18 %f‘ffb,j BEER Blm — FEE BED 47 — EERBRERE I Ge H25.2.13 | H252.13 <99 <556 <16
19 %fﬁbd rER ERilih — FERBER BEY 45 — BERERRE V- Ge H25.2.13 | H25.2.13 <83 <78 <16
20 %f‘ffb,j BEER Blm — FETE BED 47 — EERBRERE I Ge H25.2.13 | H252.13 <74 <83 <15
21 %fﬁbd rER ERilih — ERBER BEY 45 — BERERRRE V- Ge H25.2.13 | H25.2.13 <88 <83 <17
22 %f‘ffb,j BEER BlH — FETE BED 47 — EERBRERE I Ge H25.2.13 | H252.13 <89 <16 <17
23 %fﬁbd rER ERilih — FERBER BEY 45 — BERERRRE V- Ge H25.2.13 | H25.2.13 <88 <9.6 <18
24 %f‘ffb,j BEER Bl — FEE BEY 47 — EERRERE I Ge H25.2.13 | H25.2.13 <85 <16 <16
25 %f”ﬁb,j BER =kan — ERBER BEY *H — BERRRRE V- Ge H25.2.13 | H25.2.13 <69 <83 <15
26 %f‘ffp,j BEER B — B BED 4HA — EERBRERE I Ge H25.2.13 | H25.2.13 <9.1 <15 <17
27 %f”ﬁb,j BER B — ERBEmR BEY *H — BERRRRE TV Ge H25.2.13 | H25.2.13 <10 <15 <18
28 %f‘ffp,j BEER RWRET — AR BED 4H — EERBRERE I Ge H25.2.13 | H25.2.13 <72 <71 <14
0 (FBE | man | xar — ERES | BEM 4 — ERRERLA L S— Ge | M25213 | H2s214 | <84 | <76 | <6




Bt i B #5258 (Ba/ke)

R4 | SR | BT | py i seme) | mes | nroy ®EE . 20, S BN BEE | Gom) | e | 01 | 0ot | ool
%f”ﬁb,j BER WhEM — B BEY 47 — BERRRRE V- Ge H25.2.13 | H25.2.13 <84 <81 <17
%f‘ffp,j BER WhEm — SERE R BEY +H — EERRERGE 5 Ge H25.2.13 | H25.2.14 <84 <89 <17
%f”ﬁb,j BER WhEM — FeE R BEY 47 — BERRRRE V- Ge H25.2.13 | H25.2.14 <1 <9.0 <20
%f‘ffp,j BER WhEm — SERER BEY +H — EERRERGE 5 Ge H25.2.13 | H25.2.14 <91 <64 <16
%f”ﬁ),,j BER Bl - FERER BEN 4+A — BERRREEEVS— Ge H25.2.13 | H25.2.14 <96 <82 <18
%f‘ffp,j BER AL — SERE R BEY 45 — EERRERGE S Ge H25.2.13 | H25.2.14 <63 <10 <13
R, | mem | x3w — AR | wEN 4 - e Ge | H2s213 | Mas21a | <sa | <ss | <17
%f‘ffp,j BER REH — SERER BEY 45 — BEERERERGE 5 Ge H25.2.13 | H25.2.14 <84 <66 <15
R, | wem | x=w — AR | wEN 4 - e Ge | H2s2i3 | Ms21a | <74 | <11 | <15
%f‘ffp,j BER REH — SERE R BEY 45 — EERREREGE5— Ge H25.2.13 | H25.2.14 <99 <88 <19
R, | wem | x=Ew — AR | wEN 4 - e Ge | H2s213 | Mas2ta | <93 | <sa | <18
%f‘ffp,j BER REH — SERER BEY 45 — EERRERGE 5 Ge H25.2.13 | H25.2.14 <90 <14 <16
%fﬁ),,j BER Bl - B BEY 4+A — BERRREEEVS— Ge H25.2.13 | H25.2.14 <69 <63 <13
%f‘ffp,j BER ¥ il — SERE R BEY 2] — EERRERGE 5 Ge H25.2.14 | H25.2.14 <82 <53 <14
%fﬁb,j BER Bl - B BEY 235 — BERRREEEVS— Ge H25.2.12 | H25.2.14 <84 <81 <17
%f‘ffp,j BER (L — SERE R BEY 2] — EERRERGE S Ge H25.2.12 | H25.2.14 <87 <81 <17
%fﬁb,j BER =kan — ERBEMR BEY i3 — BERRRRE V- Ge H25.2.14 | H25.2.14 <69 <6.2 <13
%f‘ffp,j BER | KEXEM — SERE R BEY 2] — EERRERGE5— Ge H25.2.14 | H25.2.14 <14 <82 <16
R, | Eem | mew — #RES | EEM e - e Ge | Hesziz | Ms2ta | <s1 | <70 | <15
%f‘gﬁp,j BER JIERET — SERE R BEY EEl| — BEERERERGE5— Ge H25.2.13 | H25.2.14 <83 <85 <17
R, | mem | zemem — AR | wEN e - e Ge | H2sziz | Ms2ta | < | <78 | <1




